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( A )1. Calculate the exact value of (379+379)x500?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT :+ 379X 2X500=379 % 1000=379000

( C )2. Ifa*4+a=0,then the result of a®®**+a?"'°+2017 is
(A)6048  (B)O  (C)2017 (D) 2018
BEAT + a(a+1)=0 — a=0 -1
@D a=0 » RI\=0+0+2017=2017
@ a= —1 = BI=(—1)*"+(-1)*"°+2017= —1+1+42017=2017

( A ) 3. Inthe figure given. ABCD and AEFD are all the A D
rectangles, the area of the rectangle ABCD is 1cm?®. £/ \ 4
Then the area of the shaded part is cm©.
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BRAT : RHSERE=ABCD e@%

( C )4 BOBSTIIBTEBHRE

3 -1=4x2

4? ~1=5x3

52-1=6x4

982 —1=99x97

B O78x976+24%x22+2x977x23+2=a’ ' HP a REFEH -Bla="
(A) 977 (B) 9777 (C) 1000 (D) 1000°

BEAT © 978x976+24x22+2x977x23+2
=977° -1+23° -1+2x977x23+2
=977%+2 X 977Xx23+23% (FIWEHAT)
=(977+23) *=1000%=a" .".a=1000 * #EE(C)
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( D )5 GCEEEHEHE r SEEAISRER 240
SBC=2x+5 ' KEAB=2x+1" BlLAIENE
RARZD <
(A)8x+6 (B)6x+8 (C)8x+10 (D) 8x+12
BT - BEAR=2X ((2x+5)+(2x+1)) =8x+12

( D )6. W0GE ' E=BF ABCH ' /ACBEER ' BIEAF
ABDE BVETEE 225 IEJo/X BCFGRIERERE 1440 / NU 77777
BI|=8f, ABC 2BAEAR[ <
(A) 12 (B) 18 (C) 24 (D) 36

24T : BC=12 AB=15 D
" /ACB=90° ..AC=+152-12?=9
S.AABC [BR=12+9+15=36 SIE(D)

(A )7 FENEBBRIRER AT LS
N=EHTETT  WBUP a bFET | g
CHAESENRRAMNEE » Ba bey |3

REH > 3 P B aggE NI —ESH <
(A) 4 (B) —40 (C) —-10 (D) 2
BT+ D (x+a)(x+b)=x>+(a+b)x+ab=x>-3x+P = a+b=-3>ab=P
@ —40=(-8)x5 » —10=(-5)x2 » 2=(-2)x () =a+b=-3
POJgE/—40° —10° 2
@ P#4

( C )8 BEEPHE 1120 A » STERSJIMAZIINEGE @ MERIREBILSLE
SMAZD 12 SiESHER/IHINHEIESIAZRLD 5 AR ER
FERTIZ/ DA BESIMEB AR (A)28 (B)30 (C)32 (D) 40

AT RER x U > BYI(x+12) A > x(x+12)=1120 > x*+12x—1120=0

(x—28) (x+40)=0 ’ x=28 B{—40 (F~5) > 28+12=40 A

1120+ (40—5)=32

FR—@BIE% » [ —EBIESEHRAEPILE - 18400

( D )9 WBB 8 RELSWHEAIERS 4270 SREESR
—BIESEZEE2EET » I/WBS TRIEDEMA K ]E‘[ggj

FIiFRRIEE—iE » SRSLRNEEL 196 oA
7 BEREER ST ZDRIESFHERTE @
(A) 8 3R (B) 12 & (C) 14 & (D) 16 3R
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R : ERIESSTVENE : 4x4=16 - i%?]ﬂ—ﬁﬁﬁU:%?lGx%:lZ

C16+12x(N—-1) =196 » n=(196-16) +12+1=16

( B )10. W&EE - I8 AOO'C B—56H » W08 4BE-CBD = ¢
ARAL 0 8 0BEI + YEA 10 4131 - 2HBE | & ZB T
DEBSRIESDERE * KO0 = < Nl T
(A)5 (B)5x (C)4 (D)4rx

M : U BB=C

SRR BERE=R+ T +R+=C+ T +R+S=(S+ T)+H([R+ D)
A G
=1+1=£=10><10><7z><£:507r B
4 4 2 2
e " B\ T
X EE=Cc0' <00 =50~ Z
10X 00'=507 ..00'=5x © D E O
= AT —2 ~, e g A 8 F

( B )11. WGE ' ABCDEF REA/ER » EAF=8 ' FE=5" 5
— — s —— E
ED=6°* CD=5" sk AB=" A
(A) 2 (B) 3 (C) 4 (D)5 Cs5D

R JEF BAEAEF 33483202 P » HER EF BACD 53483212 Q » 2

ER ABEACD 3248322 R ) Fok

'.‘4A:45:4C=4D:4E=4F=(6_2)6X180 ~120 5@5\15
_ _ 6%

S.APQRAE=AF ' PQ=8+5+6=19=RQ Rew=esp779

".RC=19-5-6=8=BR* XPR=19=8+AB+8= AB=3 ’ HG&(B)

( B )12. 3008 ' BD=DE=EF=FC * LD//KE//JF//AC *
GF//HE//ID//AB - 250 AB=9 > BC=8 > AC=7 *
HNEBED 2B =AFRRERIR k » BIT3

{O& k&<
(A)32 < k < 35 (B)35 < k < 38
(C)38 < k< 41 (D)41 < k < 44

BRAT © BTk =6J1 +6LD + 6GF

:6><E+6><£+6><E
4 4 4

:g(AB+ BC+AC):2><24:36
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( A )13 BB NHGEEFIRIEENSE » 58 »
HNOHES 160 A7 FIRZ 280 2D * 5
BRI 100 A0 - NTEER T ‘?O%

2 150 A0 —BEEHER—BRL - 10
BgS2DAD e (A)360 (B)380  (C)400 (D) 460

_ 12 1
Azif : weE . 0. 190
x 150+100
120 _3 | 500=3x - x=200
X 5 160
RS =200+160=360 A% it
( A )14 CE2H/VEEER 1 NWIE=AFFEN ' ACZBO “ 4
RPE ' PFRAOKR QS BJOP+0OQ =" 9
B E
5 4 2 1 P &
A) 2 B) = Cc) £ D) =
(A) c (B) c ©) 2 (D) 5 A/
L 1 C D

BRAT - @:Exlzi » AOPQ ~ AAFQ
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( D )15. JSEASAABC BURFHESSIR O BUBITS » 1ESRIENS A

ERFBAABCHIBN » BXIA0: AN =3:8 A
HAABC IR 36 FIABCHIBEAT ot oL \|
(A)96 (B)132 (C)256 (D) 484 C'

AT AO'AA' =38 ..AO:AO=AC:AC'=3:11
AABC : AAB'C'=9:121 - 36: AAB'C'=9: 121 ..A AB'C'=484

( C )16 WEE X $—IKETHOIEA-B-C=2-8 °
BAB=6 - BC=4 ZE&BGEE A BHIEIE RS
C 251713 D % > B BEEAE) » 24X AABC~ADBE > °

BcD=11" nﬁFﬁEBAEG}_LZ:EJEEG RENEBAESRD B 4 Cc — 1l
Do (A)3 (B)sE ()4 (D)5
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BEHT . AABC~ADBE
. AB BC 6 4
"'DB BE ' 4+11 BE
6BE =60 - BE=10
. .AE=10-6=4

( C )17 WEE - FIOHEF ABCD B » B~ F =FDUBIRAC » L7
G H=F/DHMAIRBD - 52 JABCD BIEEA 108 ° ’K’
B JEGFH METEAR S ° ZAT s
(A) 8 (B) 9 (C) 12 (D) 16

fEMT © AE=EF =CF

E:E:%:lzl:Z:O_E:ﬁzl:S

A D

"' JEGFH~[_JABCD
. JEGFH : [JABCD=1%:32=1:9

[ JEGFH @7|‘§=108xé:12

( D )18. 0GB AABCH » DE ~ FG ~ HI =#RE2BIFE{TBC - 4
ABEE AC » E=REZRHKR 0 B - EAO0EG ~ AODI

AOFH B EEIKkBA 4 ~ 9 ~ 25 /585117 » BIAABC ¢ L
BERZ/DE[EN < [

B C
(A) 76 (B) 90 (C) 96 (D) 100 F H

BEAT © AOEG~AODI~AFHO
- AOEG Hf& : AODIEE : AFHO BEfE=4:9: 25
..OG:ID:OF =2:3:5 ' BJAl: ID:DB=2:3:5
.. AB:ID=(2+3+5):3=10:3
AABC S : AODI @f&=10° : 3°=100 : 9
Y AODI HfE=9 ..AABC H#&E=100

( B )19 W6E - REF—EIEER+ELHEE - BN \ /
HPBNSEEF =227 » BE AB=827D » RIR A(kEGj/DB
Bles—0 @EESE M 127 RItFEER F
ECDEIVAD °
(A4 (B)6 (C)8 (D)10
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BILVA O HERr BIRTIEIHOE + AE =0A —
- (r-2)+4%=r? &

- r=5:CG=V0OC -0G =.5"-(5-1°=3 C\<
—» CD=2x3=6 !
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) 20. WEE @ 18 3 WMEE 4 ADHBEFARE » IEEMmE
NEDBFSTNBED! » BI=MISHEFARAIZEPR (RHRED )

BTE‘JFZ%y/JI’E NPT
(A) 843 ——7[ (B) 8V3-3r
(C) 43 ——7z (D) 4J3-27x

i AB ~ BC ~ CA °
%ﬂﬁ@%#mzﬁ%ﬁﬁ—%aﬁﬁ
J3

:—X42—1><2><2X7Z'
4 2

=43 -2r

)21, IRBIER » BEE 23 IREFEHRZ <
(A) F£15 (B) 23 (C)%s% (D) 8435
B 2 7B BUSHEIEBR » FTILURES 2

) 22. B—EIRFEE @ [IX - IR IS SR » fIpRE—BFZ 457 -
PN F5ERR - & 20 WEAFINAEE—X » BTN —BEFEA
e (A)25 (B) 30 (C) 36 (D) 40

fideiz
45-20=25
B Kx BIX20% 3t 20=20: 25 » x=16
B 3220 fo] 322 57
.20+16=36
18 iE

) 23. B 200 BERDERN—NIEEHE (—A—R > BUERNR)
2B 6 (UEREA @ EEGRBAZRIE ARG  BBAZEDE R -
SREASHESEEEHEE 35 FEMNEDOUEERE <
(A) 62 (B) 63 (C) 64 (D) 65
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BT -

BT -

BT -

pli

ADFEE= LB
—DFIDﬂ CI1FFB F X = ﬂ%ﬁ%ﬁﬂ

> x+24x+1+x+3+2+1<200 |BR| 1 | 2 | 3 | 4|5 |6

T I x+2 | x+1 | x | 3| 2 | 1

> x< 63% ' X R A=63

8y (200—3—2—1—1—2)+3=63§ S BR% 63

pli

)24, A—REBNREI}PE aBAEZEDBLIET B aBAEDB 28T
BaBAZEDBIRIT - » B a, BAEDE n 8T iR ABBB n
27T MRENEBRZDEIT ©
(A) a;+ax+az+ -+ +a, (B) a;+2a,+3az+ -+ - +na,

(C) ayXayXagX -+« -+ Xa, (D) 14243+ -+ +n)xa,
1x(a;—ap)+2%(a,—az)+3(az—ay)+4(ay—ag)+ -+ -+ +n(a,_1—an)
=a,—ay+2a,—2az+3a;—3a,+4a,—4as+ - - +na, _1—ha,
=a;+a,+aztas+ - +a,

)25. A~ B~ C  DIOAEOXZEIERE » HPINERWTNRAD ©
AEEBE 7090 C1EH607D ' KD2ED - (BH—EE 1049)

KA KA /5;%— KA KA /5;%— KA A KA KA /)5\
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BIlO|IO|I X | X | X]O|]O|]O|X|X]70

CI X | X | X]O]O | X]O|X|O|X/|®s60

D O X | X|O|O|X|X|O|IX|IX|?
(A) 50 (B) 60 2 (C) 70 2 (D) 80

ABBEASH7E 2 ASHEH 1458 - BRANSERE 4 BHE - 2
8300 6 BERE - BB (BEARE) M6 BDURS 6 BIER > RIAIS (&
=18E) §) 4 BOE 8 BIER » ISHHER -

EIERETMRAE 158 (0)  H48 (X) > H68 (0) @ (X) -
£ C VB R0 EIIEEEHET  ESH A 60 TUNEABIHLEHT -
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ARIE EER - D EHEEE 12359108 ' tSDR 60 °
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EFB O I X I X | X100 |0 | X|X]|X
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2 19 ?
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BT ¢ (1) BBMME  Tx2—4x2=6* 5x8—2x10=20 * 9x4—10x2=16

BER1. (7-1)x2—2-4=6 SR 2. T7+2-4+2-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

5xX34+4%x2=23 » 7X4+4+5%x3=43 » 10x2+7x3=41

2. 068 » [EF57 ABCD (18RA 2 UBC REAF—+8 > t—2—7F
AELIER T Kk
- 2 /
(1) CERf - Ng
(2) AADT VEAE © B 2
BEMT : (1) BCE=x ..ET=CE=x> DE=2-Xx> AT=AB=2
C.AE=2+X A 2 D
£ A\ADE D "." ZADE =90°
1 — 1 ‘o
S22+ (2-X)P =2+ X)) =>x== CE== 2 /
(2-x)"=(2+x) 5 5 N g
= 2x3 B o
— — . —— ADxDE 2 6
2) YfEDH LAE ..DH=""-- _o
@ 17 AE 5 5
2
.'.AADTﬁﬁzlxﬁxm:ExZXQ:Q
2 2 5 5
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